A AL

i

R

& &

(Fa B FHm % AL 7 20)
1% & #% M & T
2 L £ F & 2TIEHESSSS « 545
3L #H 4 TTTE A F ST VR il 5 G G fth, T
4 fE T % Fr T B TEET PN
5 B #L H ER2THETH 8 H
6 TEMME (Bik) 50, 370, 000 O P AR 1004%/M X 1, 000, 000
T IEAFLIEESEAS B 43, 238, 000 1. 9853
[F A A A R
i y = i = : = =

AALE4, H%ﬁ TN fﬁrﬁ,méﬂu = ]\’ré@%“ﬁ’ﬁ %@% o ﬁéﬂ%ﬁ
e L T 100.0 11.0 111.0 51, 500, 000 2.1553 | FrEMMIc kv ) 5
75y e 100.0 18.0 118.0 54, 100, 000 2.1811 | vreidic kv e 2
KA 100. 0 15.0 115.0 53, 800, 000 2.1375 | TiEEhBIC & v M%) 6
(RN LN 100.0 10.0 110.0 52, 100, 000 2.1113 | TrEtilic L v %) 9
TR B A A () 100. 0 15.0 115.0 53, 000, 000 2. 1698 | TiEimiz & v s 4
(BT AL 100.0 18.0 118.0 54, 300, 000 2.1731 | TrEHEIc LY #5) 3
Rk B G 100.0 12.0 112.0 52, 700, 000 2.1252 | FEEMEIC LY L) 7
F A W 100.0 16.0 116.0 54, 700, 000 2.1207 | vremidic kv e 8
S TR & LSIs 100.0 10.0 110.0 50, 200, 000 2.1912 |¥HL 1
A A R () 100.0 13.0 113.0 54, 600, 000 2.0696 | Tiewidic kv e 10
[ ik LA o0 B Al R ] _

S A —_ _ ﬂﬂﬁ\:'?\@ﬂ”ﬂﬁgﬁ H &Uaf{ﬂﬁ,ﬁ NG A ISR

fi THE S G¥REH  |mETegmrorn]  HURELE NEAiE

b e T 100.0 1.0 3.0 1.0 6.0 11.0 8
75y = 100.0 2.0 4.0 4.0 8.0 18.0 1
KA 100. 0 2.0 2.0 2.0 9.0 15.0 4
(FEEN eI 100.0 0.0 3.0 1.0 6.0 10.0 9
TR A% (K 100. 0 1.0 4.0 4.0 6.0 15.0 4
(BT AL 100.0 1.0 3.0 4.0 10. 0 18.0 1
AR B 5 100.0 2.0 2.0 2.0 6.0 12.0 7
FHA B 100.0 1.0 3.0 2.0 10. 0 16.0 3
EF TR mILSOE 100. 0 1.0 1.0 2.0 6.0 10.0 9
e R (R 100.0 1.0 1.0 1.0 10.0 13.0 6




